



St. Louis County, Minnesota

Date of Report: 4/27/2025 10:06:26 PM

General Details

 Parcel ID:
 510-0020-04913

 Document:
 Abstract - 1067942

 Document Date:
 09/24/2007

Legal Description Details

Plat Name: PORTAGE

Section Township Range Lot Block

32 66 17 - -

Description: THAT PART OF LOT 3 COMM AT SW COR OF SEC 32 THENCE N01DEG16'32"W ALONG W LINE OF LOT 3 300 FT TO PT OF BEG THENCE N01DEG16'32"W ALONG W LINE 312.08 FT THENCE S89DEG59'13"E 350.09 FT TO

E LINE OF W 350 FT OF LOT 3 THENCE S01DEG16'32"E ALONG SAID E LINE 312.08 FT TO A LINE WHICH

BEARS S89DEG59'13"E FROM PT OF BEG THENCE N89DEG59'13"W 350.09 FT TO PT OF BEG

Taxpayer Details

Taxpayer Name ROZMARK PAUL

and Address: 11750 VERMILLION ST NE SUITE D

BLAINE MN 55449

Owner Details

Owner Name ROZMARK PAUL

Payable 2025 Tax Summary

2025 - Net Tax \$305.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$390.00

Current Tax Due (as of 4/26/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$195.00	2025 - 2nd Half Tax	\$195.00	2025 - 1st Half Tax Due	\$195.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$195.00	
2025 - 1st Half Due	\$195.00	2025 - 2nd Half Due	\$195.00	2025 - Total Due	\$390.00	

Parcel Details

Property Address: School District: 2142
Tax Increment District: -

Property/Homesteader: -

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
151	0 - Non Homestead	\$14,400	\$16,400	\$30,800	\$0	\$0	-	
	Total:	\$14,400	\$16,400	\$30,800	\$0	\$0	308	





St. Louis County, Minnesota

Date of Report: 4/27/2025 10:06:26 PM

			Land D	etails					
Deeded Acres:	2.51								
Naterfront:	-								
Nater Front Feet:	0.00								
Nater Code & Desc:	-								
Gas Code & Desc:	-								
Sewer Code & Desc:	-								
_ot Width:	0.00								
_ot Depth:	0.00								
The dimensions shown are nattps://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/	survey quality. <i>F</i> frmPlatStatPop	Additional lot Up.aspx. If t	information can be for the formation can be for the formation can be formation.	ound at ns, please email PropertyT	ax@stlouiscountymn.gov.			
		Improve	ment 1 D	etails (7X24 TT)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	0	16	8	168	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	0	7	24	168	-				
Improvement 2 Details (LT ON SCH)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
CAR PORT	0	23	4	234	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	9	26	234	POST ON GF	ROUND			
		lua na va va na	ant 2 Dat	eile (CCU ON T	F\				
	Value Budit	-		ails (SCH ON T	•	Otala Orda O Dana			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
SCREEN HOUSE	0 Stor y	Width		338	- Foundat	-			
Segment BAS	Story	13	Length 26	Area 338					
DAS	1	13	20	330	POST ON GROUND				
		Improvem	nent 4 Det	tails (Woodshed	l)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	96	5	96	-	-			
Segment	Story	Width	Width Length Area		Foundati	ion			
BAS	1	8	12	96	POST ON GF	ROUND			
		Improve	ement 5 D	Details (Fabric)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
CAR PORT	0	28	8	288	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	12	24	288	POST ON GF	ROUND			
Improvement 6 Details (SAUNA)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
SAUNA	0	96		96	-	-			
Segment	Story	Width	Length		Foundati	ion			
_	_	8	12	96	POST ON GROUND				
BAS	1	O	12	30	1 001 011 01	COULD			





St. Louis County, Minnesota

Date of Report: 4/27/2025 10:06:26 PM

		Improv	vement 7 Deta	ails (CPT)					
Improvement Type Year Built		Main Flo	in Floor Ft ² Gross Area Ft ²		Basement Finish Style Code & Des				
CAR PORT 0			520 520		<u> </u>				
Segment Story		•	3		Founda				
BAS	1	20	26	520	POST ON GROUND				
		Improve	ement 8 Detai	ls (On cpt)					
Improvement Typ			Main Floor Ft ² Gross Are		a Ft ² Basement Finish		Style Code & Desc.		
SLEEPER	0	20		200	-		-		
Segme	•	•	Length	Area	Foundation				
BAS	1	10	20	200	POST ON G	BROUND			
		Improv	vement 9 Deta	ils (Poly)					
Improvement Typ	e Year Built	Main Flo	Main Floor Ft ² Gross Area F		Ft ² Basement Finish Sty		tyle Code & Desc.		
STORAGE BUILDIN			24 24		-		-		
Segme	•	•	Length	Area		Foundation			
BAS	1	4	6	24	POST ON G	ROUND			
	;	Sales Reported	to the St. Lou	is County Audito	r				
No Sales informa	tion reported.								
	·	Δ.	accoment His	24 a m /					
	Class	A	ssessment His	Siory	Def	Def			
	Code	Land	Bldg	Total	Land	Bldg	Net Tax		
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity		
2024 Payable 2025	151	\$14,400	\$15,600	\$30,000	\$0	\$0	-		
2024 1 ayabic 2020	Total	\$14,400	\$15,600	\$30,000	\$0	\$0	300.00		
	151	\$14,000	\$12,100	\$26,100	\$0	\$0	-		
2023 Payable 2024	Total	\$14,000	\$12,100	\$26,100	\$0	\$0	261.00		
	151	\$12,800	\$10,100	\$22,900	\$0	\$0	-		
2022 Payable 2023	Total	\$12,800	\$10,100	\$22,900	\$0	\$0	229.00		
	151	\$9,600	\$8,700	\$18,300	\$0	\$0	-		
2021 Payable 2022	Total	\$9,600	\$8,700	\$18,300	\$0	\$0	183.00		
		7	Tax Detail Hist	tory					
Total Tax &									
Tau Vaan	Tour	Special		Tavabla Lav 4 80	Taxable Building		tal Tavabla MY		
Tax Year 2024	Tax	Assessments	Assessments				tal Taxable MV		
2024	\$271.00 \$249.00	\$85.00 \$85.00	\$356.00 \$334.00	\$14,000 \$12,800	\$12,100 \$10,100		\$26,100 \$22,900		
2023	\$249.00	\$85.00	\$334.00	\$12,800	\$10,100		\$18,300		
2022	ΨΖΖΟ.00	φυυ.υυ	ψουο.υυ	φ9,000	φο, 100		ψ10,300		





St. Louis County, Minnesota

Date of Report: 4/27/2025 10:06:26 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.